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Question Id : 92090613468 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Two Indiana on finals in final list of Rs 2Cr global nursing award

NAOMI CANTON

London: Shanti Teresa Lakra, a nurse working with primitive tribes in the
Andaman and Nicobar Islands, and Kerala-born Jincy Jerry from Ireland are among
honouring nursing staff worldwide. Lakra from GB Pant Hospital in Port Blair was
awarded the Padma Shri in 2011 for her incredible service to the tribal community of
Andaman and Nicobar — gaining their trust over the year, overcoming the language
barrier and providing medical assistance whenever they needed it.

Lakra and Jerry, the assistant director of nursing for infection prevention
and control at Mater Misericordiae University Hospital in Dublin, were selected from
52,000 entries sent by 202 countries for the Aster Guardians Global Nursing Award
2023, which carries a prize-money of more than Rs. 2Crore. The finalists will be
evaluated by a judging panel and the result declared at a ceremony in London on
may 12, coinciding with International Nurses Day. As many as 13,156 nurses
applied from India in the second editions of the award.

“My whole world belongs to the tribes-folk living in a very interior and

isolated part of Andaman and Nicobar,” Lakra said. When the 2004 tsunami his the
island of the Onge tribe and drove them deep into the jungle, she made her home
with them and lived in an open tent. She recalled assisting an Onge teenager deliver
a premature baby weighing less than a kilo on the night of the tsunami. Lakra said
if she wins the award, she will use the cash to create an NGO to provide healthcare
to the endangered native islanders. Lakra, born in Rangat on Middle Anadaman
Island, also wants to fund Onge yvoungsters wishing to train as nurses.
Jerry, who moved to Dublin in 2006 after training as a nurse Delhi’s Jamia
Hamadard, was nominated for a robotic system she introduced in her Dublin hospital
in March 2020. Inspired by the banking sector, it has drastically reduced the
administrative work of nurses, eliminating human error, allowing nurses to spend
more time with patients and improving job satisfaction and staff retention.

Sub questions

Question Number : 1 Question Id : 92090613469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word barrier is

(1) Fence (2) Opening
(3 Obstacle (4) Barren
Options :

92090653201. 1



92090653202. 2
92090653203. 3
92090653204. 4

Question Number : 2 Question Id : 92090613470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Meaning of the word Primitive:

(1) Earliest ancestor (2) Substance for priming something
(3 Earliest times in history (4) primipara
Options :

92090653205. 1
92090653206. 2
92090653207. 3
92090653208. 4

Question Number : 3 Question Id : 92090613471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Nurses day” is celebrated internationally on:

(1) 12th April (2) 12th May
(3) 2rd Wednesday of May (4) March last friday
Options :

92090653209. 1
92090653210. 2
92090653211. 3
92090653212. 4

Question Number : 4 Question Id : 92090613472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Why Shanti Teresa Lakra was in news?

(A) She is working with primitive tribes in the Lakshyvadeep Island.
(B) She won Padmashri award in 2021.
(C) She was a finalist for the Aster Guardians (Global Nursing Award 2023.

(D) She assisted 1in delivery of a premature baby on the night of the tsunami.

Choose the correct answer from the options given below :

(1) (C) only

(2) (A) and ()
(3)  (B)and (C)
(4)  (B) and (D)

Options :

92090653213. 1
92090653214. 2
92090653215. 3
92090653216. 4

Question Number : 5 Question Id : 92090613473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Primitive tribes in this passage refers to:

(1)  Old tribes of Andaman
(2) Onge tribe
(3)  Tribe folk living in very interior and isolated part of Andaman and Nicobar
(4) MNatives of Rangat on middle Andaman Island.
Options :
92090653217. 1
92090653218. 2

92090653219. 3
92090653220. 4

Question Id : 92090613468 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Two Indiana on finals in final list of Rs 2Cr global nursing award

NAOMI CANTON

London: Shanti Teresa Lakra, a nurse working with primitive tribes in the
Andaman and Nicobar Islands, and Kerala-born Jincy Jerry from Ireland are among
honouring nursing staff worldwide. Lakra from GB Pant Hospital in Port Blair was
awarded the Padma Shri in 2011 for her incredible service to the tribal community of
Andaman and Nicobar — gaining their trust over the year, overcoming the language
barrier and providing medical assistance whenever they needed it.

Lakra and Jerry, the assistant director of nursing for infection prevention
and control at Mater Misericordiae University Hospital in Dublin, were selected from
52,000 entries sent by 202 countries for the Aster Guardians Global Nursing Award
2023, which carries a prize-money of more than Rs. 2Crore. The finalists will be
evaluated by a judging panel and the result declared at a ceremony in London on
may 12, coinciding with International Nurses Day. As many as 13,156 nurses
applied from India in the second editions of the award.

“My whole world belongs to the tribes-folk living in a very interior and

1solated part of Andaman and Nicobar,” Lakra said. When the 2004 tsunami his the
island of the Onge tribe and drove them deep into the jungle, she made her home
with them and lived in an open tent. She recalled assisting an Onge teenager deliver
a premature baby weighing less than a kilo on the night of the tsunami. Lakra said
if she wins the award, she will use the cash to create an NGO to provide healthecare
to the endangered native islanders. Lakra, born in Rangat on Middle Anadaman
Island, also wants to fund Onge voungsters wishing to train as nurses.
Jerry, who moved to Dublin in 2006 after traiming as a nurse Delhi’s Jamia
Hamadard, was nominated for a robotic system she introduced in her Dublin hospital
in March 2020. Inspired by the banking sector, it has drastically reduced the
administrative work of nurses, eliminating human error, allowing nurses to spend
more time with patients and improving job satisfaction and staff retention.

Sub questions

Question Number : 1 Question Id : 92090613469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word barrier is

(1) Fence (2) Opening
(3) Obstacle (4) Barren
Options :

92090653201. 1
92090653202. 2
92090653203. 3
92090653204. 4



Question Number : 2 Question Id : 92090613470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Meaning of the word Primitive:

(1) Earliest ancestor (2) Substance for priming something
(3 Earliest times in history (4) primipara
Options :

92090653205. 1
92090653206. 2
92090653207. 3
92090653208. 4

Question Number : 3 Question Id : 92090613471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Nurses day” is celebrated internationally on:

(1) 12th April (2) 12th May
(3) 2rd Wednesday of May (4) March last friday
Options :

92090653209. 1
92090653210. 2
92090653211. 3
92090653212. 4

Question Number : 4 Question Id : 92090613472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Why Shanti Teresa Lakra was in news?

(A) She is working with primitive tribes in the Lakshyvadeep Island.
(B) She won Padmashri award in 2021.
(C) She was a finalist for the Aster Guardians (Global Nursing Award 2023.

(D) She assisted 1in delivery of a premature baby on the night of the tsunami.

Choose the correct answer from the options given below :

(1) (C) only
(2) (A)and (C)
(3)  (B)and (C)
(4) (B)and (D)
Options :
92090653213. 1
92090653214. 2

92090653215. 3
92090653216. 4

Question Number : 5 Question Id : 92090613473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Primitive tribes in this passage refers to:

(1)  Old tribes of Andaman
(2) Onge tribe
(3)  Tribe folk living in very interior and isolated part of Andaman and Nicobar
(4) MNatives of Rangat on middle Andaman Island.
Options :
92090653217. 1
92090653218. 2

92090653219. 3
92090653220. 4

Sub-Section Number : 2
Sub-Section Id : 920906438
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090613474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with suitable word from the options given below:

The lion 1s at and has brought havoe in this area.

(1) Bay (2) Sea

(3) Open (4) Large
Options :

92090653221. 1
92090653222. 2
92090653223. 3
92090653224. 4

Question Number : 6 Question Id : 92090613474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

The lion is at and has brought havoe in this area.

(1) Bay (2) Sea

(3) Open (4) Large
Options :

92090653221. 1
92090653222. 2
92090653223. 3
92090653224. 4

Question Number : 7 Question Id : 92090613475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the appropriate one word substitute for:

A study, analysis and collection of currency and especially coins used throughout
history.

(1) Ornithology (2) Philology
(3) Philately (4) Numismatics
Options :

92090653225. 1
92090653226. 2
92090653227. 3
92090653228. 4



Question Number : 7 Question Id : 92090613475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the appropriate one word substitute for:

A study, analysis and collection of currency and especially coins used throughout
history.

(1) Ornithology (2) Philology
(3) Philately (4) Numismatics
Options :

92090653225. 1
92090653226. 2
92090653227. 3
92090653228. 4

Question Number : 8 Question Id : 92090613476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate preposition from the options given below:

Degradation of a body water a substance or condition such a degree
that the water fails _ meet specific purpose.
(1) of, by, to, to (2) for, to, of. to
(3) of, to, by, for (4) of, from, in, to
Options :

92090653229. 1
92090653230. 2
92090653231. 3
92090653232. 4

Question Number : 8 Question Id : 92090613476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate preposition from the options given below:

Degradation of a body water a substance or condition such a degree
that the water fails _ meet specific purpose.
(1) of, by, to, to (2) for, to, of, to
(3) of, to, by, for (4) of, from, in, to
Options :

92090653229. 1
92090653230. 2
92090653231. 3
92090653232. 4

Question Number : 9 Question Id : 92090613477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the word “ALMS" is:

(1) Blessings (2) Prayers
(3) Worship (4) Charity
Options :

92090653233. 1
92090653234. 2
92090653235. 3
92090653236. 4

Question Number : 9 Question Id : 92090613477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the word “ALMS" 1s:

(1) Blessings (2) Prayers
(3) Worship (4) Charity
Options :

92090653233. 1
92090653234. 2
92090653235. 3
92090653236. 4

Question Number : 10 Question Id : 92090613478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Correct the underlined phrase and choose appropriate option to replace it.

Primitive man believing that a erime ereated in imbalance which could be rectified
only by punishing the wrongdoer.

(1) Believed that a erime creats (2) Believes that a erime created
(3) Believed that a erime created (1) Believed that a eriminal ereated
Options :

92090653237. 1
92090653238. 2
92090653239. 3
92090653240. 4

Question Number : 10 Question Id : 92090613478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Correct the underlined phrase and choose appropriate option to replace it.

Primitive man believing that a crime created in imbalance which could be rectified
only by punishing the wrongdoer.

(1) Believed that a erime creats (2) Believes that a crime ereated
(3) Believed that a erime created {4) Believed that a eriminal created
Options :

92090653237. 1
92090653238. 2
92090653239. 3
92090653240. 4

Question Number : 11 Question Id : 92090613479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
The surface area of a sphere of radius Tem 1s: (Taken = %)

(1) 4158 em? (2) 540 cm?
(3) 616 cm? (4) 280 cm?
Options :

92090653241. 1
92090653242. 2
92090653243. 3



92090653244. 4

Question Number : 11 Question Id : 92090613479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
The surface area of a sphere of radius Tem 1s: (Taken = % )

(1) 4158 cm? (2) 540 cm?
(3) 616 em? (4) 280 cm?
Options :

92090653241. 1
92090653242. 2
92090653243. 3
92090653244. 4

Question Number : 12 Question Id : 92090613480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the value of *?" in the following

784+ 14 + 598 + 13 + ? = 99 % of 2500

(1) 2475 (2) 2373
(3) 2565 (4) 2285
Options :

92090653245. 1
92090653246. 2
92090653247. 3
92090653248. 4

Question Number : 12 Question Id : 92090613480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the value of *?’ in the following
784+ 14 + 598 + 13 + ? = 99 % of 2500

(1) 4
(3) 256

2]

Lr s
i

=

(2) 2373
(4) 2285

L

on

Options :



92090653245. 1
92090653246. 2
92090653247. 3
92090653248. 4

Question Number : 13 Question Id : 92090613481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During festival sale, a shop offered 10% discount on all items. What would a customer
have to pay on purchase of a jacket marked at #1450 and two shirts marked at ¥850
each?

(1) 22735 (2) 2835
(3) 3150 (4) T2935
Options :

92090653249. 1
92090653250. 2
92090653251. 3
92090653252. 4

Question Number : 13 Question Id : 92090613481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During festival sale, a shop offered 10% discount on all items. What would a customer
have to pay on purchase of a jacket marked at 1450 and two shirts marked at ¥850
each?

(1) 2735 (2) %2835
(3) 3150 (4) T2935
Options :

92090653249. 1
92090653250. 2
92090653251. 3
92090653252. 4

Question Number : 14 Question Id : 92090613482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A car covers 20km in 12 minutes. If its speed is reduced by 20km/hr, then time taken
to cover the same distance will be

I

|
(1) E hour (2) E hour
(3) z ho (1) ; hour
+ = our i == L1
3 4
Options :

92090653253. 1
92090653254. 2
92090653255. 3
92090653256. 4

Question Number : 14 Question Id : 92090613482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A car covers 20km in 12 minutes. If its speed 1s reduced by 20km/hr, then time taken
to cover the same distance will be

I

|
(1) 3 hour (2) 2 hour
@ = ho G g
t 3 Our 4 11
Options :

92090653253. 1
92090653254. 2
92090653255. 3
92090653256. 4

Question Number : 15 Question Id : 92090613483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum on simple interest becomes Rs 14880 in 3 years and Rs 16800 in 5
years. Find the rate of interest.

(1) 6.5% (2) 7%
(3) 89 (4) B8.25%

=2

Options :
92090653257. 1



92090653258. 2
92090653259. 3
92090653260. 4

Question Number : 15 Question Id : 92090613483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum on simple interest becomes Rs 14880 in 3 years and Rs 16800 in 5
years. Find the rate of interest.

(1) 6.5% (2) 7%
(3) 8% (4) 8.25%
Options :

92090653257. 1
92090653258. 2
92090653259. 3
92090653260. 4

Question Number : 16 Question Id : 92090613484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bhuvan is fifteenth from the front in queue of boys. There are thrice as many behind
him as There were in front. How many boys are there between Bhuvan and the
seventh boy from the end of the queue?

(1) 33 (2) 34
(3) 35 (4) 36
Options :

92090653261. 1
92090653262. 2
92090653263. 3
92090653264. 4

Question Number : 16 Question Id : 92090613484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bhuvan is fifteenth from the front in queue of boys. There are thrice as many behind
him as There were in front. How many boys are there between Bhuvan and the
seventh boy from the end of the queue?

(1) 33 (2) 34
(3) 35 (4) 36
Options :

92090653261. 1
92090653262. 2
92090653263. 3
92090653264. 4

Question Number : 17 Question Id : 92090613485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Statement :  There should be only one university throughout India.

Arguments : (D) This will make the degrees procured by students, comparable

for offering jobs.

(I) This is the only way to bring about uniformity in the

educational standards.

Which of the above argument(s) hold for the statement?

(1) Only argument I
(2) Only argument I1
(3)  Argument I and argument 11

(4) Neither argument I nor argument 11

Options :

92090653265. 1
92090653266. 2
92090653267. 3
92090653268. 4



Question Number : 17 Question Id : 92090613485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement :  There should be only one university throughout India.

Arguments : (I) This will make the degrees procured by students, comparable

for offering jobs.

(II) This is the only way to bring about uniformity in the

educational standards.

Which of the above argument(s) hold for the statement?

(1) Only argument I
(2) Only argument II
(3) Argument I and argument 11

(4) Neither argument I nor argument 11

Options :

92090653265. 1
92090653266. 2
92090653267. 3
92090653268. 4

Question Number : 18 Question Id : 92090613486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the missing number.

(1) 13 (2) 14
(3) 20 (4) 21
Options :

92090653269. 1
92090653270. 2
92090653271. 3
92090653272. 4

Question Number : 18 Question Id : 92090613486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the missing number.

f

15? 2161?

IO
W

(1) 13 (2) 14
(3) 20 (4) 21
Options :

92090653269. 1
92090653270. 2
92090653271. 3
92090653272. 4

Question Number : 19 Question Id : 92090613487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the number of triangles in the following figure.

(1) 48 (2) 42
(3) 44 (4) 38
Options :

92090653273. 1
92090653274. 2
92090653275. 3
92090653276. 4

Question Number : 19 Question Id : 92090613487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the number of triangles in the following figure.

(1) 48 (2) 42
(3) 44 (4) 38
Options :

92090653273. 1
92090653274. 2
92090653275. 3
92090653276. 4

Question Number : 20 Question Id : 92090613488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the water image of the following fig (X)

e

fig (X)
Options :

92090653277. 1
92090653278. 2
92090653279. 3
92090653280. 4

Question Number : 20 Question Id : 92090613488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the water image of the following fig (X)

e

fig (X)
Options :

92090653277. 1
92090653278. 2
92090653279. 3
92090653280. 4



Question Number : 21 Question Id : 92090613489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Name of India’s 15t Drone which can carry human passengers?

(1) Varuna (2) Hanu
(3) Garuda (4) Udan Khatola
Options :

92090653281. 1
92090653282. 2
92090653283. 3
92090653284. 4

Question Number : 21 Question Id : 92090613489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Name of India’s 15t Drone which can carry human passengers?

(1) Varuna (2) Hanu
(3) Garuda (4) Udan Khatola
Options :

92090653281. 1
92090653282. 2
92090653283. 3
92090653284. 4

Question Number : 22 Question Id : 92090613490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National emergency is declared under which of the article of Indian Constitution?

(1) Article 342 (2) Article 350
(3) Article 362 (4) Article 352
Options :

92090653285. 1
92090653286. 2
92090653287. 3
92090653288. 4



Question Number : 22 Question Id : 92090613490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National emergency is declared under which of the article of Indian Constitution?

(1) Article 342 (2) Article 350
(3) Article 362 (4) Article 352
Options :

92090653285. 1
92090653286. 2
92090653287. 3
92090653288. 4

Question Number : 23 Question Id : 92090613491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fiven below are two statements :

Statement [ :  The National wealth is the measurement of total National Income
of the country on a given time,
Statement 11 :  National income is the measurement of flow of services and goods

in economic system. It is the production power of economic

system in a given time period.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement I is correct but Statement I1 is incorrect

(4) Statement I is incorrect but Statement I1 is correct

Options :
92090653289. 1
92090653290. 2



92090653291. 3
92090653292. 4

Question Number : 23 Question Id : 92090613491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fiven below are two statements :

Statement [ : The National wealth is the measurement of total National Income
of the country on a given time,
Statement II  : National income is the measurement of flow of services and goods

in economic system. It is the production power of economic

system in a given time period.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ is correct but Statement Il is incorrect

(4) Statement [ is incorrect but Statement I1 is correct

Options :

92090653289. 1
92090653290. 2
92090653291. 3
92090653292. 4

Question Number : 24 Question Id : 92090613492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who out of the following became the first ever player in football to score 700 goals in
club football and also the leading Scores in international football?

(1) Lionel Messi (2) Cristiano Ronaldo
(3) Pele (4) Robert Lewandowski
Options :

92090653293. 1
92090653294. 2
92090653295. 3
92090653296. 4

Question Number : 24 Question Id : 92090613492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who out of the following became the first ever player in football to score 700 goals in
club football and also the leading Scores in international football?

(1) Lionel Messi (2) Cristiano Ronaldo
(3 Pele (4) Robert Lewandowski
Options :

92090653293. 1
92090653294. 2
92090653295. 3
92090653296. 4

Question Number : 25 Question Id : 92090613493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following diseases are caused by houseflies?

(A) Cholera
(B) Malaria
(C) Typhoid
(D)  Dysentery
(E) Dengue

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only
(2) (A), (B) and (E) only
(3) (A), (C) and (D) only
(4) (A), (D) and (E) only

Options :

92090653297. 1
92090653298. 2
92090653299. 3
92090653300. 4

Question Number : 25 Question Id : 92090613493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following diseases are caused by houseflies?

(A) Cholera
(B) Malaria
(C) Typhoid
(D) Dysentery
(E) Dengue

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only
(2) (A), (B) and (E) only
(3) (A), (C) and (D) only
(4) (A), (D) and (E) only

Options :

92090653297. 1
92090653298. 2
92090653299. 3
92090653300. 4
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Question Number : 26 Question Id : 92090613494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Zeeman Effect’ phenomenon involves

(1)  Splitting of spectral lines by an electric field
(2)  Splitting of spectral lines by a magnetic field
(3) Splitting of white light into seven colours

(4) Bending of light around the corners of an obstacle

Options :

92090653301. 1
92090653302. 2
92090653303. 3
92090653304. 4

Question Number : 26 Question Id : 92090613494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S UHIE ufyEe a1 g2

(1) faggd &= gr1 avl wiffg warsi &1 faueH
(2) THEDIY & GRI aUl g 3@ FT faHeH
(3)  4d UHT BT U TN H faifora g

(4) €Y1 P DIl Y UHT &1 S

Options :

92090653301. 1
92090653302. 2
92090653303. 3
92090653304. 4

Question Number : 27 Question Id : 92090613495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s a top-down approach for the synthesis of nanomaterials?

(1) Chemical Vapour Deposition (CVD) (2) Ball-milling
(3 Physical Vapour Deposition (4) Hydrothermal method

Options :

92090653305. 1
92090653306. 2
92090653307. 3
92090653308. 4

Question Number : 27 Question Id : 92090613495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o § 9 B 91 39 Sl & Geawr & R elu-gre efsiu §2

(1) I 9 SfHE ) dfa fafe
3)  ifde 9 S (4) TIESIYHd fafy
Options :

92090653305. 1
92090653306. 2
92090653307. 3
92090653308. 4



Question Number : 28 Question Id : 92090613496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The condition for diffraction of hight 1s:

Where; A is the wavelength of source used. a=size of the obstacle.

(1) A za (2) A<a
5] A=a () A>>a
Options :

92090653309. 1
92090653310. 2
92090653311. 3
92090653312. 4

Question Number : 28 Question Id : 92090613496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT &1 faaa Hiem &1 A o Tel 82

(1) iL=za (2) A<a

(3) A= (4) A=>a
Options :

92090653309. 1
92090653310. 2
92090653311. 3
92090653312. 4

Question Number : 29 Question Id : 92090613497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Reduction in the grain size of a material from bulk scale to nanometer scale, results
in

(1)  shift in the position of absorption edge in UV-visible spectrum towards higher
wavelength side.

(2)  no shift in the position of absorption edge in UV-visible spectrum.
(3)  shift in the position of absorption edge in UV-visible spectrum towards lower
wavelength side.

{(4) random shifting of absorption edge in UV-visible spectrum.

Options :

92090653313. 1
92090653314. 2
92090653315. 3
92090653316. 4

Question Number : 29 Question Id : 92090613497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o UHM I 41 Hie THH d& ugrd 31eR | &l &1 yRom §

(1) g fafsfae Waen | sagi @ Rufd &1 fGar e 3= o ool @t ol
@ g faffed Daeen o sagivo it Rufd &1 w1 fewsn

3) gl fafofed Daeq ¥ sEwm &t R &1 feR1 Reae g o 3= 1 3R
@) gt fafsifed Waen ¥ Hifedt &1 avdie Raasr

Options :

92090653313. 1
92090653314. 2
92090653315.3
92090653316. 4

Question Number : 30 Question Id : 92090613498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A n — type semiconductor is

(1)  positively charged

(2} electrically neutral

(3) negatively charged

{4)  electrically at 0 K but charged at higher temperatures

Options :

92090653317. 1
92090653318. 2
92090653319. 3
92090653320. 4

Question Number : 30 Question Id : 92090613498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U n — 134 3 g
(1)  ¢ATHAS AEY
(2) fdggd Iaruel

(3) HUTHS G
(4) 0K f[dggd JameH Ui 3= dIUHMH U 31afd

Options :

92090653317. 1
92090653318. 2
92090653319. 3
92090653320. 4

Question Number : 31 Question Id : 92090613499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Bragg's angle for the first order diffraction from (111) plane in a crystal is 60°.

]—10

Calculate the interatomic spacing if X — rays of wavelength 1.8x1( m are used.

(1)  28x10%m (2) 3.2x10 % m
(3) 1.8x107190m (4) 0.6x10711m
Options :

92090653321. 1



92090653322. 2
92090653323. 3
92090653324. 4

Question Number : 31 Question Id : 92090613499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U fobed # (111) 0 8 WYH $ife & faad= & 1w 9 &1v1 60° 8 | afe X - fabui forgast
du el 1.8 = 1010 m § &1 UGN fhd] S1aT € ol $==1 URHTY] Sf=aR10 1 U &3 |

(1) 2.8x10°m (2) 3.2 x10%m
(3) 1.8x10"m 4 0.6 x10"m
Options :

92090653321. 1
92090653322. 2
92090653323. 3
92090653324. 4

Question Number : 32 Question Id : 92090613500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If ny and ne are number of holes and number of conduction electrons in an extrinsic
semiconductor respectively, then which of the following is true

(1) N, > N, (2) n,=n.
(:'}} Np = Ne {-1} Ny #F e
Options :

92090653325. 1
92090653326. 2
92090653327. 3
92090653328. 4

Question Number : 32 Question Id : 92090613500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g n, TUT ne U STE] HERITAS T HH: BIeX 3R FdacHi @i G § ol Fafafed § &1
141 87

{‘l} MNp > Ne {2] Np = Ne
{3} Np < Ne {4} Np # Ne
Options :

92090653325. 1
92090653326. 2
92090653327. 3
92090653328. 4

Question Number : 33 Question Id : 92090613501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An Aluminium crystal is bent into a radius of curvature of 6 em. The value of
minimum dislocation density is ( Hint: Burgers vector = 3 L)

(1) 32x10¥m=2 (2) 4.89 % 100m-2
(3) b5.5x109m=2 (4) 6.4 % 10'm2
Options :

92090653329. 1
92090653330. 2
92090653331. 3
92090653332. 4

Question Number : 33 Question Id : 92090613501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U UegHI-TH &1 99 6 I (6 cm) @1 Iehdl a1 d AIST 911 A1 €, o gAdH AR 99d &
A $1 ITUFT B3 (Fdbd : TR W = 3 A)

(1) 3.2x109m?2 (2) 4.89 x 10"°m™
(3) 55x10"m? 4) 6.4 x 10"°m™?
Options :

92090653329. 1
92090653330. 2
92090653331. 3



92090653332. 4

Question Number : 34 Question Id : 92090613502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a, b and ¢ are translational vectors of primitive umt cell. Which of the following
correctly represents the primitive translation vectors of reciprocal lattice?

A e gk ey UEE  og n. SX0
a.(b X&) a.(bx¢) d.(bxE)

@ Gt DXC peay TR gy, XD
a.(bx¢) a.(bx¢) d.(bxc)

Bl O gy b ONE oy g PXE
2r a(bxc) 2r a(bx=c) a.(bxé)

y et iy, OED g, OXE
d(bxé d(bxE) d.(bxE)
Options :

92090653333. 1
92090653334. 2
92090653335. 3
92090653336. 4

Question Number : 34 Question Id : 92090613502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g a, b AU ¢ U T DIPH] & VAT I ¢ : @ Fafafed § 8 depn Sas &
U RG] IR @dex) B ol 4 § <1l 8

(1) @*=2r——;p*=21———;F* =2 ———
a.(bxc) a.(bxc) afbx=c)

@  aveog PEE geoan €XB on. GX0
a.(bxc) a.(bxé) afbxc)

@ a=l 8P g 1 B ., o
2w a.(bx¢) 27 d.(bx<) a.(bxé)

) Pede S0 5 g axb E*=2r bxa
id.(bx¢) da.(bxc) a(bxc)

Options :



92090653333. 1
92090653334. 2
92090653335. 3
92090653336. 4

Question Number : 35 Question Id : 92090613503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electron in the conduction band:

(1) is bound to its parent atom
(2) has no charge
i(3) is located near the top of the crystal

i4) has a higher energy than an electron in valence band.

Options :

92090653337. 1
92090653338. 2
92090653339. 3
92090653340. 4

Question Number : 35 Question Id : 92090613503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ydleh a4 § Us fagyggs] (SdaeH)|

(1) 310 Hd W] § de1 g3 gl g

(2) IS NI G @l

3) fored & Oy & geiig fRa g g1

(4) GOl dy H faggg e &1 ga- J it Iei vadl ¢

Options :

92090653337. 1
92090653338. 2
92090653339. 3
92090653340. 4

Question Number : 36 Question Id : 92090613504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For characteristic X — rays, Moseley's law is expressed as N TR Y b). Which of
the following statement is true in this regard?

(1) Both ‘a’ and ‘b’ depend on the material.
(2) ‘b’ 15 independent, but ‘a’ depends on the material.
(3) ‘a’ 18 independent but ‘b’ depends on the material.

(4) Both ‘a’ and b’ are independent of the material.

Options :

92090653341. 1
92090653342. 2
92090653343. 3
92090653344. 4

Question Number : 36 Question Id : 92090613504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M @ME X — feol & o, dred &1 Fan fd 8 Vv = o (Z - b). Fefafaa § sF @
$Y 39 a9y H 9 B

(1) aaubar e RARFAE

(2) b WEdd g, dib ‘a’ g WR Fvar g

(3) ‘aWdd g dfed b I R MR g

(4) o’ TUTD aH e § Wad §

Options :

92090653341. 1

92090653342. 2

92090653343. 3
92090653344. 4

Question Number : 37 Question Id : 92090613505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 Bohr Magneton is given by

(1) en (2) eh
2m e

(3 ﬁ (4) ﬂ
" 2me

Options :



92090653345. 1
92090653346. 2
92090653347. 3
92090653348. 4

Question Number : 37 Question Id : 92090613505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 A ¥ o1 91 fdF ey IR AHeH &1 gl Sl &2

m 2 @ =
Lm mc
g = 7
m 2me
Options :

92090653345. 1
92090653346. 2
92090653347. 3
92090653348. 4

Question Number : 38 Question Id : 92090613506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The paramagnetic susceptibility of the Fermi gas of conduction electrons is:

(1)  y=3Nu2/2 Ep (2) y=2Nu’i2 Ep
(3)  y=2Ng%I3 Ep (1) y=3NulEp
Options :

92090653349. 1
92090653350. 2
92090653351. 3
92090653352. 4

Question Number : 38 Question Id : 92090613506 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YATe® SedCl B WHT 119 B ST 1 gaIedl &l 82

(1)  x=3Ng%/2 Ep (2) z=2Nu2/2 Ep
(3) x=2N4°/3 Ep (4) »=3NulEp
Options :

92090653349. 1
92090653350. 2
92090653351. 3
92090653352. 4

Question Number : 39 Question Id : 92090613507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sieverts (5v) 1s used to measure

(1) loudness of sound (2) radiation dosage
5] light intensity {4) recombination rate of charge carriers
Options :

92090653353. 1
92090653354. 2
92090653355. 3
92090653356. 4

Question Number : 39 Question Id : 92090613507 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIa<H (Sieverts) BT WART AU & fere faan oran g1

(1) @[ D yargHa

2 oo gae

(3) U digd

(4)  SMAY AEHI DI G ToH R

Options :

92090653353. 1
92090653354. 2
92090653355. 3
92090653356. 4



Question Number : 40 Question Id : 92090613508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of nearest neighbour distance in simple cubic, body centered cubic and face
centered cubic crystal structures of equal sides is respectively:

31 ; W31
W LoE @ Yy an
8 8
D 1—3f3 4 1:—:2
33 W3
Options :

92090653357. 1
92090653358. 2
92090653359. 3
92090653360. 4

Question Number : 40 Question Id : 92090613508 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Y13l e QYR 94, {02 $g 99 a1 Bad H<ig 99 fbted Sa-ei & i
Frpean uSRi 31 gt &1 3ud &

NE 7
1 l:—:— 2 l:—:——
D 2. 2 @) 8 2.2
8 8
3 1:——=:2442 4 l: —:2
(3) w5 V2 (4) 5
Options :

92090653357. 1
92090653358. 2
92090653359. 3
92090653360. 4

Question Number : 41 Question Id : 92090613509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For an anisotropic dielectric media, the relative permittivity is:

(1) a scalar quantity (2) a vector quantity
(3) a tensor quantity (4) an imaginary numhber
Options :

92090653361. 1
92090653362. 2
92090653363. 3
92090653364. 4

Question Number : 41 Question Id : 92090613509 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYHCIRIF RIdegd HIeOH & fo1Y, |Iie IR g1

(1) Sifew uf (2) ey

(3) ufcmr ufy (4) U Hled-d HEI
Options :

92090653361. 1
92090653362. 2
92090653363. 3
92090653364. 4

Question Number : 42 Question Id : 92090613510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following which 15 not a chemical method of the synthesis of
nanomaterials?

(1) Hydrothermal method (2) Sol-gel method
(3 Co-precipitation method (4) Laser-ablation method.
Options :

92090653365. 1
92090653366. 2
92090653367. 3
92090653368. 4



Question Number : 42 Question Id : 92090613510 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafEd 7 9 #1931 Sl & Hwermo $1 Iurafe &y 761 82

(1) erggluva fafy
2) faoa-<od @ra o) faf
(3) g 3fdaqur fafg
(4) oo UsaH fafy

Options :

92090653365. 1
92090653366. 2
92090653367. 3
92090653368. 4

Question Number : 43 Question Id : 92090613511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The slopes of isothermal and adiabatic curves are related as:

(1) Isothermal curve slope = Adiabatic curve slope

(2) [sothermal curve slope = ¥ (Adiabatic curve slope)

(3 Adiabatic curve slope = ¥ (Isothermal curve slope)

(4) Adiabatic curve slope = Ey (Isothermal curve slope)

Options :

92090653369. 1
92090653370. 2
92090653371. 3
92090653372. 4

Question Number : 43 Question Id : 92090613511 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GH AT 3R SIS UshHi & gal &1 dehl & adl [bd UHR SHaRId gl

(1)  GHAU 9 TUH = G g adF
(2) HAUN 96 A = » (TS 9% ga)
3) TGS dh gdH = y (FHAUT d5p gd)

4) Sa™ d% g = ,;L (FHAU 9 M)

Options :

92090653369. 1
92090653370. 2
92090653371. 3
92090653372. 4

Question Number : 44 Question Id : 92090613512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Critical Temperature is defined as:

(1) minimum temperature at which a gas can be liquefied by applying pressure.
(2) lowest temperature at which a gas can be liquefied at constant pressure.

(3) minimum temperature at which a gas cannot be liquefied by applying
pressure.

(4)  highest temperature at which a gas cannot be liquefied by decreasing pressure.

Options :

92090653373. 1
92090653374. 2
92090653375. 3
92090653376. 4

Question Number : 44 Question Id : 92090613512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wifae argwE = 7 O fu ovg ufvwifta i o &2

(1) 98 gAaqH dIuHH 5" IR g1d TTH: 19 &1 gidd fddn o Sl g

(2) el Fuad aoHE ol R RR 9" gR1 T & sfdd &g o wdar g
(3) AdH dA9HH o R g @R 79 P wfad A fHa1 <1 Sdhdl g
(4) I=IdH dI9HM foTH U Ga1d &H S 119 B Gidd Jel [l o Jabdl &

Options :

92090653373. 1
92090653374. 2
92090653375. 3
92090653376. 4

Question Number : 45 Question Id : 92090613513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The enthalpy of unit mass of any system is

(1) H=U+PV+S (2) H=U+PV-S
(3) H=U+PFV d) H=E+TS
Options :

92090653377. 1
92090653378. 2
92090653379. 3
92090653380. 4

Question Number : 45 Question Id : 92090613513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fEpaft 4t yumelt &1 3BT guAE S aNdig enfaT (ERIE) B

(1) H=U+PV+8 (2) H=U+PV-S
(3) H=U+FPV (4) H=E+TS
Options :

92090653377. 1
92090653378. 2
92090653379. 3
92090653380. 4



Question Number : 46 Question Id : 92090613514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of Fermi energy of an electron in Fermi level 15?

2 1
R {3INY h [ 3N s
1 E =—|— 2 Ef=—
@) T 2m \_H.?E'l"] 2) 4 Eni’kﬁ:frVJ
3 2
. . h( 3N W (aenN 3
(3) f;,.:—( - J (4) E,ra—[ = !
T 2m\ B 2m| 812V )

Options :

92090653381. 1
92090653382. 2
92090653383. 3
92090653384. 4

Question Number : 46 Question Id : 92090613514 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I g 7 U fagyesiy] (gaeeH) Bl WHl el &1 A gidl 672

2 1
K (3N (3N )3
i =t G et [ I8
© 2m) Bxl 2m\ 8z V)
h (3N ) 22 ( 2N )3
(3) .- :—[ 3 ] W B
© 2m\ &V 2m\ 8r°V )

Options :

92090653381. 1
92090653382. 2
92090653383. 3
92090653384. 4

Question Number : 47 Question Id : 92090613515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Number of vibrational degrees of freedom in water molecule:

(1) Two (2) Three
(3) Four (4) One
Options :

92090653385. 1
92090653386. 2
92090653387. 3
92090653388. 4

Question Number : 47 Question Id : 92090613515 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oId & (U] H WigTg Wdadl &1 Sifedl &1 e &

(1) o (2) oH
(3) HER 4) U
Options :

92090653385. 1
92090653386. 2
92090653387. 3
92090653388. 4

Question Number : 48 Question Id : 92090613516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The device which converts heat energy into Mechanical work is:

(1) Motor (2) (Generator
(3 Heat Engine (4) Energy converter
Options :

92090653389. 1
92090653390. 2
92090653391. 3
92090653392. 4

Question Number : 48 Question Id : 92090613516 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

98 IUH Sl FHHIY FHll &1 gifFe el # uRafid a1 gl

(1) HAR (2) SRR
(3) MY (&) I @) Foll uNaGdd
Options :

92090653389. 1
92090653390. 2
92090653391. 3
92090653392. 4

Question Number : 49 Question Id : 92090613517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of two specific heats [E} of a diatomic gas 1s:

‘\ C‘L.- g
(1) 1.66 (2) 1.33
(3) 1.40 (4) 1.52
Options :

92090653393. 1
92090653394. 2
92090653395. 3
92090653396. 4

Question Number : 49 Question Id : 92090613517 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

femRmmE T 1 [y Fwef (C,/C.) &1 U &

(1) 1.66 (2) 1.33
(3) 1.40 (4) 1.52
Options :

92090653393. 1
92090653394. 2
92090653395. 3
92090653396. 4



Question Number : 50 Question Id : 92090613518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an experimental method in X — ray diffration study?

(1) Rotating crystal method (2} Powder method
(3) Laue's method (4) Miller method
Options :

92090653397. 1
92090653398. 2
92090653399. 3
92090653400. 4

Question Number : 50 Question Id : 92090613518 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafaa # ¥ $1F X - & faadq srerga & e f&fd gt 82

(1) gof forvea fafy 2 i Eesy fafy
(3) M (Laue's) Bl fafd @) TR fafe
Options :

92090653397. 1
92090653398. 2
92090653399. 3
92090653400. 4

Question Number : 51 Question Id : 92090613519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The First Law of thermodynamics is based on the principle of:

(1) Conservation of mass (2) Conszervation of momentum
(3) Conservation of energy (4) Conservation of entropy
Options :

92090653401. 1
92090653402. 2



92090653403. 3
92090653404. 4

Question Number : 51 Question Id : 92090613519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHYAMET &1 yuA Faq g fgia w sreRd g

(1)  %oOHT &1 & (2) T T TIEO
(3) Sl I W& (4) TSIl & W&
Options :

92090653401. 1
92090653402. 2
92090653403. 3
92090653404. 4

Question Number : 52 Question Id : 92090613520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a transverse mechanical wave moves along X — axis, the particles of the
medium vibrate:

(1) along X —Y plane (2) along X - axis
(3 along Y — Z plane (4) along X — Z plane
Options :

92090653405. 1
92090653406. 2
92090653407. 3
92090653408. 4

Question Number : 52 Question Id : 92090613520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U il TR T8 X —3{&f & A1y Teid| g HIEH & HUI S Hd o

(1) X-YHdg & FHATMR 2) X - 9dg & GHHR
(3) Y-ZYdg & FAFAW (4) X-ZYHde & gaAEIR



Options :

92090653405. 1
92090653406. 2
92090653407. 3
92090653408. 4

Question Number : 53 Question Id : 92090613521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Drude’s model, deals with the theory of conduction in

(1) semiconductors (2) insulators
(3) metals (4) dielectrics
Options :

92090653409. 1
92090653410. 2
92090653411. 3
92090653412. 4

Question Number : 53 Question Id : 92090613521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$S B HISH ydledhd & RIGid & Safid g
(1) 3 Ardsy (2) SfEIdDIY
3) e (4) WIAEGHM
Options :

92090653409. 1
92090653410. 2
92090653411. 3
92090653412. 4

Question Number : 54 Question Id : 92090613522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following represents the Bloch’s function in one dimension?

(1)  wix)= exp (xikx)uy (x) where ug (x +a)=uy (x)

: i(—} = i’—} =3 =y {4
(2) wir|=exp|tik r |u| r | where H;'.| r-ajl=uy|r
koo \ ) L \ L .

(3) wix)= sin(ikx)uy (x) where uy (x+a)=uy (x)+uy (a)

(4) wlx)= coslikx)uy, (x) where uy, (x +a)=uy (x)+uy, (@)

Options :

92090653413. 1
92090653414. 2
92090653415. 3
92090653416. 4

Question Number : 54 Question Id : 92090613522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFofafaa @ 9 &9 91 us & saie (Bloch) oA &1 ufdfAfee & &

(1) wix)= exp (xikx)uy (x) where wy (x+a)=uy (x)

(2) w{?] = exp [i i }: ?}M,ﬂ; [T] where y, [? :] = U [?J

(3)  wix)= sin(ikx)u, (x) where wy, (x +a)=uy (x)+uy (a)

(4)  wilx)= coslikx)u(x) where uy, (x+a)=u(x)+u, (a)

Options :

92090653413. 1
92090653414. 2
92090653415. 3
92090653416. 4

Question Number : 55 Question Id : 92090613523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which law states, “It is not possible to have a process in which the entropy of an
1solated system is decreased”?

(1) First law of thermodynamics {2) Second law of thermodynamics
(3) Kelvin — Planck statement (4) Gibb’s Helmhottz law
Options :

92090653417. 1
92090653418. 2
92090653419. 3
92090653420. 4

Question Number : 55 Question Id : 92090613523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafefad # @ o a1 From ad7a g 6 v T uftsar Gva 781 @ forad ue gy ol #1
UeTdt wedt 31

(1) 17! &1 vaw FHan

(2) 1 fde! @ fed Fraa

(3) fead - Wid FYA

(4)  Tireq - gglee S A

Options :

92090653417. 1
92090653418. 2
92090653419. 3
92090653420. 4

Question Number : 56 Question Id : 92090613524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

First Brillouin zone of the face-centered cubic latter is

(1) a cube (2) arhombic dodecahedron
(3 a truncated octahedron (4) arhombus
Options :

92090653421. 1
92090653422. 2
92090653423. 3



92090653424. 4

Question Number : 56 Question Id : 92090613524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bl $i-ad T410 STad &1 gy eI g ——
(1) Ul Yd (Hd)

(2) U fawncany glevsas Qs SedegH)

(3) U WUsd Fhad (Cides HldelesH)

(4) TP YHAGHS

Options :

92090653421. 1
92090653422. 2
92090653423. 3
92090653424. 4

Question Number : 57 Question Id : 92090613525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One 18 labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Solar cells converts light energy into electrical energy.

Reasons (R) ; Solar eells always work in reverse biased condition.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s incorrect

(4) (A) 1s incorrect but (R) is correct

Options :
92090653425. 1
92090653426. 2



92090653427. 3
92090653428. 4

Question Number : 57 Question Id : 92090613525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R IsyRumE:

HYF | : R I UHTA Sl Bl [dggd SHoll | uiafid dd & |

®YA || : GreR T gA fAudid IehH fid (e 9raws) s/aw # &rd vl B
IR HYA & 3Tdled #, A 3T MU fab el # ¥ "l Il 9u- Hiferg

(1) U IARIGHA g

2) Sy SR EET I §

(3) YT TH g, b U1l A
(4) HYF| NG g, AT YA TA B

Options :

92090653425. 1
92090653426. 2
92090653427. 3
92090653428. 4

Question Number : 58 Question Id : 92090613526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Newton's law of cooling is a special case of:

(1) Stefan's law (2) Planck's law
(3) Wein's displacement law (4) Kirchoffs law
Options :

92090653429. 1
92090653430. 2
92090653431. 3
92090653432. 4

Question Number : 58 Question Id : 92090613526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e &1 YideH &1 oy A= 1 9 fy Faw ot faw fufa g2

(1) Eied o1 e (2) e &1 HaH
(3) o &1 fawrgE Faa 4 T &1 faaa
Options :

92090653429. 1
92090653430. 2
92090653431. 3
92090653432. 4

Question Number : 59 Question Id : 92090613527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The unit cell dimension of bec iron is 2.81 A. The radius of iron atom is

(1) 1224 (2) 1.44 A
(3) 5.22A (4) 6.44 A
Options :

92090653433. 1
92090653434. 2
92090653435. 3
92090653436. 4

Question Number : 59 Question Id : 92090613527 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BCC Wi (3M133) BT 3bTs a1 2.81 A g1 die & YTHIY] (UeH) &1 Ui a1 Jid difom:

(1) 122A (2) 1.44 A
(3) 5.22A (4) 6.44 A
Options :

92090653433. 1
92090653434. 2
92090653435. 3
92090653436. 4



Question Number : 60 Question Id : 92090613528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following solid is held together by Van der Waal forces?

(1) Ionic erystals (2) Covalent solids
(3) Metallic solids (4) Moleculer solids
Options :

92090653437. 1
92090653438. 2
92090653439. 3
92090653440. 4

Question Number : 60 Question Id : 92090613528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad # @ &9 91 3T arsy d1d aTdl gR1 U Y a4 g1l 87

(1) A fhed (2) HgudlE® 34
(3) ufcd® 39 (4) 3MUIfd® 3
Options :

92090653437. 1
92090653438. 2
92090653439. 3
92090653440. 4

Question Number : 61 Question Id : 92090613529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the intensity of Magnetization of a steel bar magnet having a magnetic moment
of 2.5 Am? and mass of 6.6x107 kg. The density of steel is 7.9x10" kgm-3.

(1) =30x10° Am?! (2) 8.3x 1077 m?
(3) =30x10"% Am! (4) 8.3x 10" m3
Options :

92090653441. 1
92090653442. 2
92090653443. 3



92090653444. 4

Question Number : 61 Question Id : 92090613529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W R Tadh & JraDHIH0 B diddl UId B ol PaDH 1T Y0l 2.5Am?,
MM 6.6 x 102 kg dYl ¥ld &1 97 7.9 x 10°kg m> 8|

(1) =3.0x10° Am? (2) 83x1077 m?
(3) =30x10°% Am1 (4) 83x10"m?
Options :

92090653441. 1
92090653442. 2
92090653443. 3
92090653444. 4

Question Number : 62 Question Id : 92090613530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following noble gas atoms has the lowest ionization energy?

(1) Helium (He) (2) Argon (Ar)
(3) Xenon (Xe) (4) Neon (Ne)
Options :

92090653445. 1
92090653446. 2
92090653447. 3
92090653448. 4

Question Number : 62 Question Id : 92090613530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 30 T e T oRaETsii 7 9 fhyue! e Rt Hul 94 A $H gidl 82

(1) Tl (He)

2)  3mHE (An

(3)  SFH (Xe)

4)  OH (Ne)
Options :

92090653445. 1
92090653446. 2
92090653447. 3
92090653448. 4

Question Number : 63 Question Id : 92090613531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which law / theory states that the ratio between thermal and electrical conductivity
is constant for all metals?

(1) Free - electron Model (2) Weidermann — Franz law
(3) Ohm's law (4) Band theory of solids
Options :

92090653449. 1
92090653450. 2
92090653451. 3
92090653452. 4

Question Number : 63 Question Id : 92090613531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oI 91 fFan,/Rigid a1 € i ardia ud fagga aeear & & &1 siurd 9 rgsh & fg
raa grar 82

(1) W godeH Hlsd

(2) S A - Wid Faw

(3) &g

@) oM ueyf @1 98 Rigid @ aR s 9iks)

Options :



92090653449. 1
92090653450. 2
92090653451. 3
92090653452. 4

Question Number : 64 Question Id : 92090613532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following elements posseses Diamond crystal structure?

(1) Silicon (51) (2) Magnesium (Mg)
(3) Gold (Au) (4) Silver (Ag)
Options :

92090653453. 1
92090653454. 2
92090653455. 3
92090653456. 4

Question Number : 64 Question Id : 92090613532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafiad #§ &F 91 dd R &1 fihed 9381 YR & 87

(1) fafee (Si) 2) HFIREH (Mg)
(3)  HHFI[IEE) (Au) 4) diel (Aeay) (Ag)
Options :

92090653453. 1
92090653454. 2
92090653455. 3
92090653456. 4

Question Number : 65 Question Id : 92090613533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Laser stands for -

(1)
(2)
(3)
(4)

Light Amplification by Stimulated Emission of Radiation
Light Amplitude by Stimulated Emission of Radiation
Light Amplification by Stimulated Emission of Ravs
Light Amplification by Strong Emission of Radiations

Options :

92090653457. 1
92090653458. 2
92090653459. 3
92090653460. 4

Question Number : 65 Question Id : 92090613533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR BT Y B

(1 fafevor & SEINT IS gR1 Ut &1 HadH

2 fafeu & I IS GRI UST &7 3UH

(3) [l & IEUT IeiH GRIT UHT &1 gt

@) B0 & Ued IO gRT U &1 UdeH
Options :

92090653457. 1
92090653458. 2
92090653459. 3
92090653460. 4

Question Number : 66 Question Id : 92090613534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A second order phase transistion is one in which

(A)
(B)
(C)
(D)

The plot of entropy as a function of temperature shows a discontinunity.
The plot of specific heat as a function of temperature shows a discontinunity.
The plot of volume as a function of pressure shows a discontinunity.

The plot of compressibility as a function of temperature is continuous.

Choose the correct answer from the options given below :

(1) (A &(B)

(2) (B) &(@D)

(3) Only B

(4) Only D
Options :

92090653461. 1
92090653462. 2
92090653463. 3
92090653464. 4

Question Number : 66 Question Id : 92090613534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U g S Sfawl SfawyicR 8 ¢ fora

A, dIUAF & B & ©4 J T &1 wie SRl S G=ifdl g

B. dIYHM & Bhad & ¥4 H ARy S &1 wile suiddl &1 <2idl g
C. T ® Bad & ¥ H G P @ic aiddl o a2idrg |

D. d9HM & B & ©9 § Ggdaddl &l Wie FiaR gidl gl

el few 71e fasedi ¥ @ |El IR &1 904 Sifo -

(1) AS3RB
2 BS3RD
(3) dd B
(4) &dd D
Options :

92090653461. 1
92090653462. 2
92090653463. 3



92090653464. 4

Question Number : 67 Question Id : 92090613535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One 15 labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion A:  Gold Nano-particles of size 2 nm, 10 nm and 15 nm possess different
colours.
Reasons R :  Surface plasmons formed on the surface of the metal nanoparticles of

different sizes absorb different wavelengths when exposed to light.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R 1s the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090653465. 1
92090653466. 2
92090653467. 3
92090653468. 4

Question Number : 67 Question Id : 92090613535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



12 €1 Hu fau MU § U SHfHFHUA (Assertion A) F T H fafad & O g1 IS HRUI
(Reason R}%W u:

HHFYTA : THA @NES) 79 B F HFHR 2 nm, 10 nm TG 15 nm 3T T 4RO FRAT1 |

PHRUIR : i 3MHRY & HRU A4T ST &I Ade!l W g4 didl da! @IoHH il aan
TEf 1 3NN &H3d € o1d 39 AU Bl USRI 5 ar g1

S HYF & 3freirer H, A fu T fadedi 7 9 998 Iugad IR &1 994 B

(1) ASIRREH T8l € AR R, A Bl &l TS &

(2) A SIRRGH 98l €, Wi R, A DI Hel AT ol &
3) ATHE AT RIS TR

(4) AWTIE APTRAGR

Options :

92090653465. 1
92090653466. 2
92090653467. 3
92090653468. 4

Question Number : 68 Question Id : 92090613536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Orthorhombic erystal posseses the point groups:

(1) CaV, Sg, Da, Dad (2) C4 CuV, Cih, S4 Dy, Dsh, Dad
(3) C:V, Ds, Dsh, Dad (4) Cs, Csh, Cih
Options :

92090653469. 1
92090653470. 2
92090653471. 3
92090653472. 4

Question Number : 68 Question Id : 92090613536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3T fpwea 7 fag Tg €A €1

(1 C.V: 5, 0,0 2 C,.CV,Gvh:S5,,D,;D:hDd
(3) C,V.D,,D,h (4) C,Ch,Ch
Options :

92090653469. 1
92090653470. 2
92090653471. 3
92090653472. 4

Question Number : 69 Question Id : 92090613537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion A:  Brillouin Zone is a Wigner Seitz cell in reciprocal space.

Reasons R : A reciprocal lattice can not be devided into zones in the same way as
a bravais lattice is divided into Wigner Seitz cells.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 1s not correct but R 1s correct

Options :

92090653473. 1
92090653474. 2
92090653475. 3
92090653476. 4

Question Number : 69 Question Id : 92090613537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty UM &:
&Y | ;. fofer S Wi €9 ¥ v faiR died 9 g

FYF Il . UFH WHUIHd Aad efera= FA1 § 781 diel & Sadl ol & U6 919 e [ R
Hiew Tl # diel of gl gl

JUITd YA & 3fald H, Al 80 710 fawedi # | "l 3! 994 Difvig

(1) FYIMR ST TGS

(2) YA SR 1 AT A &

(3) U FA g, b Y |l A &
(4)  DUA MUY g, Afb YA 1| I &

Options :

92090653473. 1
92090653474. 2
92090653475. 3
92090653476. 4

Question Number : 70 Question Id : 92090613538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the crystal which does not show Zinc blende structure?

(1) Cu(l (2) Agl
(3) BeTe (1) BaTe
Options :

92090653477. 1
92090653478. 2
92090653479. 3
92090653480. 4

Question Number : 70 Question Id : 92090613538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



39 foheed &1 Ugard & ol fold 513 (zinc blende) TXEAT fle@mI B

(1) Cud (2) Agl
(3) BeTe (4) BaTe
Options :

92090653477. 1
92090653478. 2
92090653479. 3
92090653480. 4

Question Number : 71 Question Id : 92090613539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion A:  An increase in the entropy of a system can be described as an

increase in the disorder of the system.

Reasonz R Entropy is a measure of unavailable energy.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R 1s NOT the correct explanation of A
(3 A 1s true but R 1s false

i(4) A is false but R is true

Options :

92090653481. 1
92090653482. 2
92090653483. 3
92090653484. 4

Question Number : 71 Question Id : 92090613539 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FyRRu U E:

HUYF | : TP YUl &1 T2t 7 gig &1 yoiell & fasR § gfg & w9 ¥ aftfa
faar 51 g g

HYA Il : T SUTss Sroll i U HIU g
IS HYA & 3Mdld H, [ S0 710 fdsedi 7 | gl Iava! 994 Sifvig

(1) &Y 3R ISH T &

(2) YT SR I EH A &

(3) YT TA g, Afb HYF Il ST B
(4) DU MUY B, Al HY 11 T B

Options :

92090653481. 1
92090653482. 2
92090653483. 3
92090653484. 4

Question Number : 72 Question Id : 92090613540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion A:  The effective mass of an electron moving in a crystal depends on the

shape of the E — k curve and given by :

Reasons R :  An electron in a crystal interacts with the potential of the crystal and
its response towards the external force is different from that of a free

electron.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2} Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) is true

Options :

92090653485. 1
92090653486. 2
92090653487. 3
92090653488. 4

Question Number : 72 Question Id : 92090613540 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fH g FyA Rumu

HYq| :

HY- |l :

U foped H TIAHMA SaaeH &1 YHTH GO0 E — k 9% $ ATBR R AR Ha
g, 3R 39 gRI e mar 81

hz
aE
dk?
0% fFeed ¥ us gaaeH fivtea & faua & a1y 3 fban &1 € ol U&
d18d 90 D1 TR IUSD! Ifeba1 U Hod FAiagi= $i garn # o= gicit 21

I HYA & 3fdld |, 1 S0 710 [deedl d§ | el Iava! 94 Sifviw

(1)
(2)
(3)
(4)

DU AR N EHT T E

HYF | 3R 11 ST 3T &

HYF | A 8, Al DY 1l 3T §
HY | 3 §, A HUF 11 TA B

Options :

92090653485. 1
92090653486. 2
92090653487. 3
92090653488. 4

Question Number : 73 Question Id : 92090613541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct differction condition in terms of Reciprocal lattice vector

(1) 2K-K+G*=0 (2) 2K-G+G*=0
(3) 2K-G+K%=0 (4) 2K-G-G*=0
Options :

92090653489. 1
92090653490. 2
92090653491. 3
92090653492. 4

Question Number : 73 Question Id : 92090613541 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Wi d e Aiew & e A fagd= &t 9l wd g4

e

b

[ o]
=L
+
L

I

=

(1) @ 2K-G+G2=0
= y T ;
3) 2K-G+K?%=0 @ 2K-G-G%=0
Options :

92090653489. 1
92090653490. 2
92090653491. 3
92090653492. 4

Question Number : 74 Question Id : 92090613542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following represents monoclinic erystal system:
(1) ga=h=c,0c= A=y=90
(2)  azb=c,o=f=90",y=120
(3) azb#c,e=f=90.2y
(1) a=bzeca=5=120%y

Options :

92090653493. 1

92090653494. 2

92090653495. 3

92090653496. 4

Question Number : 74 Question Id : 92090613542 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Aifdae fiwed e & fau

(1) a=h=c,k=H0=y="MH)

(2) azb=c,oc=F=90,,y=120r
(3) atbtcou=F=N 2¥

(4) g=bze.a==120"+¥

Options :



92090653493. 1
92090653494. 2
92090653495. 3
92090653496. 4

Question Number : 75 Question Id : 92090613543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which option correctly represents the relation between three elastic moduli, ie.,
Young's Modulus (Y), Bulk modulus (B) and shear modulus (7) and Poisson's

ratio (o).

(1) Y=n(l+20),Y=8(3-20) (2) Y=2n(1+0).Y=3B(3-20)
(8) Y=2n(l-0).Y=3B(1+20) 4 Y=n(2+0)Y=B(3-20)
Options :

92090653497. 1
92090653498. 2
92090653499. 3
92090653500. 4

Question Number : 75 Question Id : 92090613543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®HF ¥ [dPe 3P UPR A YA Uid] ol b 37 & ATl ol (Y), -
TR Ui (B), U UARAT TUId () 3R IS & U (o) & o day &1
faffea &var g

(1)  Y=n(1+20),Y =B(3-20) 2) Y=2(1+0),Y =3B(3-20)
(3) Y=2n(1-o),Y=3B(1+20) @) Y=n(2+0)Y=B(3-20)
Options :

92090653497. 1
92090653498. 2
92090653499. 3
92090653500. 4

Question Number : 76 Question Id : 92090613544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a light is incident normally on the interface separating two media (having different
refractive indices); What will be the change in the path of light?

(1} It will bend towards the normal.

(2) It will bend away from the normal.

(3) It 15 will go undeviated.

(4) It will hounce back and retrace its path.

Options :

92090653501. 1
92090653502. 2
92090653503. 3
92090653504. 4

Question Number : 76 Question Id : 92090613544 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gie U USRI FHIRIC: &1 HIEH] &1 JYSH H3 ald ARIGad (Sebd) W Sufad gial 8
(fafir sraadie gid §); 9T & 9y H &1 uRdd- gim?

(1) I8 & B SR g

(2) U8 O U GR FhW
(3)  "g sifadferd gt Mt g1 s

(4)  Og Ul BT 3R S 3R 941 I a9 o

Options :

92090653501. 1
92090653502. 2
92090653503. 3
92090653504. 4

Question Number : 77 Question Id : 92090613545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which iz correct for all ideal gases

(1) Cy iz a function of T only
(2) Cp is a function of T only, and is greater than Cy
(3) Cp — Cy 18 not a function of T, but equal to R.

{4)  The ratio % = ¥ 1s a function of T only, and is greater than 1.
.

Choose the correct answer from the options given below :

(1)  (A) and (B)
(2)  (A)and (C)
(3)  (C)and (D)
(4) (A, (B), (C) and (D)

Options :

92090653505. 1
92090653506. 2
92090653507. 3
92090653508. 4

Question Number : 77 Question Id : 92090613545 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot gt sireel i & ferw udt 81
A, C, ®dd T Had gl

B. C, $dd T ®IUH Had g, AR C, 931 ¢l

C. Cp—Cy, TP Ha ol g, died R P TRER gl

D. E—::yﬂﬂﬁﬂqﬁaﬂﬂTﬁWW%ﬁhlﬁ@%I
Hra fdu v fasheui ¥ ¥ 9l IR &1 994 Sifor ;

(1) AS3RB

(2) A3RC

(3) C3RD

4 ABCSIRD

Options :

92090653505. 1



92090653506. 2
92090653507. 3
92090653508. 4

Question Number : 78 Question Id : 92090613546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For ideal liquids, the modulus of rigidity is

(1) infinity (2) finite non zero
(3) unity (4) zero
Options :

92090653509. 1
92090653510. 2
92090653511. 3
92090653512. 4

Question Number : 78 Question Id : 92090613546 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aimee] S & o, e Ui &:

(1) /i (2) uRffa IR
3) TR @ =
Options :

92090653509. 1
92090653510. 2
92090653511. 3
92090653512. 4

Question Number : 79 Question Id : 92090613547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Wiedemann - Franz — Lorentz law, which of the following represents the
correct relationship between thermal conductivity (Ke) and electrical condirectivity
(o) in a solid (where : k is Boltzmann constant, ¢ is electronic charge, T is

Temperature)
. 2:2
@) £=[” * ng
o ae”
K, [
® —=={ZZ |r
o de”
K, |[=
(C) *""f;'=[ 5 ]ﬂ'
2 102

T
Ko m’k
2 JT =[He2]

2,8
® =('¢i ]5

Choose the correct answer from the options given below :

(1)  (B)and (E)
(2)  (A)and (B)
(3) (C)and (D)
(4) (D) and (A)

Options :

92090653513. 1
92090653514. 2
92090653515. 3
92090653516. 4

Question Number : 79 Question Id : 92090613547 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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- 2.2
® &[22,

I fow v faedl W 9 el IR &1 T HIf -

(1) &ad B3IRE

(2) ad A 3R B

(3) @dd C3RD

(4) Fdd D3IRA
Options :

92090653513. 1
92090653514. 2
92090653515. 3
92090653516. 4

Question Number : 80 Question Id : 92090613548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Figure shows variation of intensity of magnetisations (I) versus the applied magnetic
field (H) of two materials A and B. Identify materials A and B respectively.

IR It

A

H — T —

(1) Diamagnetic and Ferromagnetic (2) Paramagnetic and Diamagnetic

(3) Paramagnetic and Ferromagnetic (4) Diamagnetic and Paramagnetic

Options :

92090653517. 1
92090653518. 2
92090653519. 3
92090653520. 4

Question Number : 80 Question Id : 92090613548 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl for 41 uerdf A aur B W AR gaatd & digdl (H) S a1 | s (1) B digdl A
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(1)  ufd 9@ a9 - deel (2) WY gFH Y gyl ufd e
(3) WY IIH aYl Wi - gabig 4) ufd Jeer gy I daag
Options :
92090653517. 1
92090653518. 2

k4



92090653519. 3
92090653520. 4

Question Number : 81 Question Id : 92090613549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement I . Internal energy of a Fermi gas at a given temperature decreases
as the volume increases.

Statement I1 :  Internal energy of any system remains unchanged during free
eXpansion.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement 11 are correct
(2) Both Statement | and Statement 11 are incorrect
(3) Statement I is correct but Statement 11 is incorrect

() Statement I is incorrect but Statement 11 is correct

Options :

92090653521. 1
92090653522. 2
92090653523. 3
92090653524. 4

Question Number : 81 Question Id : 92090613549 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 By UM E:

FY | : 3T U AIHE W) BH T $T1 MaRE duHH aad deF W gedl gl
HY 1 o [AWR & SR &t ot saaer/vonet & sfiaie Sl safkafdd edi 81
SWRIT HYF $ 3faid 1, 419 fou 7y fdwedi & 4 ugt 3wl 9a4 Diforg
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)  PYTI AR ISH A E

(3) Y| TA g, Alpd HU |l 3T g
(4) DY | AFd §, Afh DU 1| A B

Options :

92090653521. 1
92090653522. 2
92090653523. 3
92090653524. 4

Question Number : 82 Question Id : 92090613550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements :

Statement [ : A particle whose energy is less than the potential barrier may still
tunnel through it.

Statement II : Wider the potential barrier more the chance that a quantum
particle can get through it.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement I1 are false
5] Statement [ 18 true but Statement 11 1s false

{4} Statement I is false but Statement 11 is true

Options :

92090653525. 1
92090653526. 2
92090653527. 3
92090653528. 4



Question Number : 82 Question Id : 92090613550 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyRumUE:
PHYF | : Tb Bl folFd! FHoll faHd @iy A &H g, a8 o i 39 Aredd A iR dud
(@el) BT Fbdl gl
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Question Number : 83 Question Id : 92090613551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ :  X-rays are used for determination of crystal structure based on
Bragg's law.

Statement I : Particle nature of X-rays is used in the determination of crystal
structure.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement 11 is false

i(4) Statement I 1s false but Statement 11 is true

Options :

92090653529. 1
92090653530. 2
92090653531. 3
92090653532. 4

Question Number : 83 Question Id : 92090613551 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090653529. 1
92090653530. 2
92090653531. 3
92090653532. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ . In free electron approximation, electron-ion interactions are
neglected.
Statement 11 :  Free electron approximation successfully explains the non-

spherical shape of Fermi surface.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I 18 true but Statement 11 is false

i(4) Statement I 1s falzse but Statement I is true

Options :

92090653533. 1
92090653534. 2
92090653535. 3
92090653536. 4

Question Number : 84 Question Id : 92090613552 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090653533. 1
92090653534. 2
92090653535. 3
92090653536. 4

Question Number : 85 Question Id : 92090613553 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements :

Statement I :  When the dimensions of a bulk materials is reduced to nanometer

scale it results in depression of its melting point.

Statement 1 : When the dimensions of a bulk material is reduced to nanometer
scale it result in blue shift of the absorption edge of its UV-visible

spectrum.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement 11 are incorrect
(3 Statement I 1s correct but Statement I1 is incorrect

(4) Statement I is incorrect but Statement 11 is correct

Options :

92090653537. 1
92090653538. 2
92090653539. 3
92090653540. 4

Question Number : 85 Question Id : 92090613553 Question Type : MCQ Option Shuffling : No Is
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Options :

92090653537. 1
92090653538. 2
92090653539. 3
92090653540. 4

Question Number : 86 Question Id : 92090613554 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement 1 :  When size of a conductor is made less than its mean free path. the

charge transport shifts towards ballestic regime.

Statement I :  When size of a conductor is made less than its mean free path, the

charge transport shifts towards diffusive regime.

In the light of the above statements. choose the correct answer from the options given

below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement 11 are false
(3 Statement I 1s true but Statement 11 is false

(4) Statement I is false but Statement II is true

Options :

92090653541. 1
92090653542. 2
92090653543. 3
92090653544. 4

Question Number : 86 Question Id : 92090613554 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090653541. 1
92090653542. 2
92090653543. 3
92090653544. 4

Question Number : 87 Question Id : 92090613555 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Clausius Clapevron Equation is

1P L dP £
1 s .. 9 o A S,
T T (Va—V;) @ 7 L(Vs—W;)
P , dT r
) S, {7 A 7 T A . R
@ Zr=Th-W) b ZF TV, — V)
Options :

92090653545. 1
92090653546. 2
92090653547. 3
92090653548. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090653545. 1
92090653546. 2
92090653547. 3
92090653548. 4

Question Number : 88 Question Id : 92090613556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:

(A) Light-Emitting Diode (LED) works under Forward biased condition.

(B) Light-Emitting Diode (LED) emits photons when electron hole recombination
OCCUrs.

(C) LED works under reverse — biased condition.

(D) The process that occurs in LED is reversed in a solar cell.

Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only
(2) (A) and (B) Only
(3) (A), (B) and (D) Only
(4) (C) and (D) Only

Options :

92090653549. 1
92090653550. 2
92090653551. 3
92090653552. 4

Question Number : 88 Question Id : 92090613556 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090653549. 1
92090653550. 2
92090653551. 3
92090653552. 4

Question Number : 89 Question Id : 92090613557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Spring Force (Hook's law) is given by

F==Kd
{A) Hook’s law is a linear relationship between force is a variable force.
(B) Spring force is a variable force.

(C)  If spring is stretched toward positive x — axis then force is negative.

(D)  If spring is compressed towards negative x — axis then force is positive.

Choose the correct answer from the options given below :
(1) (A) and (C) Only

(2) (A) and (D) Only

(3) (A), (B)and (C) Only

(4)  (A), (B). (C) and (D) Only

Options :



92090653553. 1
92090653554. 2
92090653555. 3
92090653556. 4

Question Number : 89 Question Id : 92090613557 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &ad A3IRC

(2) ad A3RD

(3) Fdd A B3RC

(4) &dd A, B, C3RD
Options :

92090653553. 1
92090653554. 2
92090653555. 3
92090653556. 4

Question Number : 90 Question Id : 92090613558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct in the case of Scanning Tunneling
Microscope (STM).

{A) Invented by Gert Binning and Henrich Rohrer

{(B) Used to study surfaces on atomic scale

() Based on Tunnelling phenomenon

(D) Invented by Ernst Ruska

(E)  Electrons can tunnel only if gap is of micro dimensions

Choose the correct answer from the options given below :
(1) (B), (C) and (D) Only

(2) (B), (C) and (E) Only

(3) (C) and (D) Only

(4)  (A), (B) and (C) Only

Options :

92090653557. 1
92090653558. 2
92090653559. 3
92090653560. 4

Question Number : 90 Question Id : 92090613558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &ad B, C3RD
(2) ad B, C3IRE
(3) Fad C3RD
4) Fad A B3IRC
Options :

92090653557. 1
92090653558. 2



92090653559. 3
92090653560. 4

Question Number : 91 Question Id : 92090613559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is/are incorrect about Fermi-Dirac distribution function?

(A) It gives the probability that an orbital is occupied at any energy E in an ideal
electron gas in thermal equilibrium.

e 1
®  7(E) _fxpl:{f:'t:.:"}f KET]—I

(C)  In expression of f(E). g is independent of temperature.

(D) At all temperatures, f(E) is equal to ¥ when E =g

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2} (B) and (C) only
(3) (B) and (D) only
(4) (B) only

Options :

92090653561. 1
92090653562. 2
92090653563. 3
92090653564. 4

Question Number : 91 Question Id : 92090613559 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) @ad ASIRC

(2) &ad B3R C

(3) &dd B3R D

(4) &dd B
Options :

92090653561. 1
92090653562. 2
92090653563. 3
92090653564. 4

Question Number : 92 Question Id : 92090613560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a nanomaterial

{A) Graphene

(B) Carbon nanotubes
(C) Graphite

(DY Fullerene

Choose the correct answer from the options given below :

(1) (B) only
(2) (D) only
(3) {A) only
(4)  (C)only

Options :
92090653565. 1



92090653566. 2
92090653567. 3
92090653568. 4

Question Number : 92 Question Id : 92090613560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A, ABH
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(1) dd B
(2) @&dd D
(3) dd A
(4) dd C
Options :

92090653565. 1
92090653566. 2
92090653567. 3
92090653568. 4

Question Number : 93 Question Id : 92090613561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: . j 1
Free electron theory predicts a constant value of Hall coefficient ie. R, =———

nec
Identify the incorrect statement regarding Hall coefficient (Ru)

(1) Ru is independent of temperature
(2) Ru is independent of pressure
(3) Eu ig independent of relaxation time

(4)  Ruis independent of the strength of magnetic field

Options :



92090653569. 1
92090653570. 2
92090653571. 3
92090653572. 4

Question Number : 93 Question Id : 92090613561 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e gt Rigi gl Ui & Us FRR e &1 Gl &l €, 6if R, = -——

nec

(1) R, d99HE ¥ Wdd g 2) R, SEIWIAS
3) R, Ryl IdwTdae @) R, GaD1g &F DI didal A WA 8
Options :

92090653569. 1
92090653570. 2
92090653571. 3
92090653572. 4

Question Number : 94 Question Id : 92090613562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I1 :

List 1 Last IT
(A) Ionic Bond (I) Electron gas
(B) Cowvalent Bond (IT} Electric attraction
(C) Molecular Bond (II1) Vander Waal forces
(D) Metallic Bond (IV) Shared electrons

Choose the correct answer from the options given below:

(1) (A)-D), (B)-(IV), (C)-(I1I), (D)-(1I)
(2)  (A)-(D), (B)-(III), (C)-(IV), (D)-(1I)
(3)  (A)-ID, (B)-IV), (C)-(I), (D)-(1D)
(4)  (A)-(D, (B)-(IV), (C)-(I1I), (D)-(T)

Options :

92090653573. 1
92090653574. 2
92090653575. 3



92090653576. 4

Question Number : 94 Question Id : 92090613562 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & Ty G | &1 e Sifor

G-I gt
(A)  HAFE |y () SdaaeET™
(B) ¥E UdN® &Y () fagga sreyu
(C) SMuifdes sy () disT did 9
(D) I &Y (Iv) Wien saae

1 fau v fawedi § § 9El IO &1 904 Hifee:

(1) (A=), B)-(1V), (C)-(Il1), (D)-(I)
(2) (A1), (B)-(l1), (©)-(IV), (D)-(IN)
(3) (A=), (B)-(IV), (C)-(1), (D)-(1D)
(4)  (A)-(1), (B)-(IV), (C)-(1), (D)-(I)

Options :

92090653573. 1
92090653574. 2
92090653575. 3
92090653576. 4

Question Number : 95 Question Id : 92090613563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 :

Last I Last I
(Crystal structure of the soild) (Packing fraction)
(A) sc (I) 74%
(B) bee (IT) 68%
(C) fec (ITI) 52%
(D) Diamond structure (IV) 34%

Choose the correct answer from the options given below:

(1)  (A)-(IID), (B)-(AV), (C)-(1I), (D)-(T)
(2) (M-I, (B)-(ID), (C)-(I), (D)-(IV)
(3)  (A)-(IID, (B)-(IV), (C)-(1I), (M-(T)
(4)  (A)-@), B)-(II), (C)-(IV), (D)-(1I)

Options :

92090653577. 1
92090653578. 2
92090653579. 3
92090653580. 4

Question Number : 95 Question Id : 92090613563 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & a1y gt 1 1 e Sifee
-1 @ & e Iva) et 11 (A 3iw)

(A) sc () 74%
(B) bcc () 68%
€ fec () 52%
(D) SHEHUS =T (IV) 34%

42 fau v fasedi & 9 Tl IR &1 99 DI

(1) (A=), (B)-(IV), (O)-(I), (D)-(n)
(2)  (A)-(lm, (B)-(), (C)-(1). (D)-(IV)
(3)  (A)-(), (B)-(IV), (©)-(1), (D)-(1)
(4)  (A)-(1), (B)-(11), (©)-(V), (D)-(1)

Options :



92090653577. 1
92090653578. 2
92090653579. 3
92090653580. 4

Question Number : 96 Question Id : 92090613564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 ;

List 1 List 1T
(A) Ionic Bonding (I) Argon
(B) Covalent Bonding (I) HF
(C) Hydrogen Bonding (I1T) Na(Cl

(D) Vander Waals interaction (IV) Diamond

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(II), (C)-(I1I), (D)-(IV)
(2)  (A)-(I), (B)-(IV), (C)-(1D), (D)-(I)
(3)  (A)-(III), (B)-(IV), (C)-(I), (D)-(II)
(4) (&), (B)-(I), (C)-(IV), (D)-(11D)

Options :

92090653581. 1
92090653582. 2
92090653583. 3
92090653584. 4

Question Number : 96 Question Id : 92090613564 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A)
(B)
(€
(D)

-1 BEi]
3fE s () A
HE HaI6® &Y () HF
HESIGRED] () NacCl

dig dld s=ggfhar  (Iv) SHE

2 fau e fasedi & | 9l IR &1 98 DI

(1)
(2)
(3)
(4)

(A)-(1). (B)-(1N), (©)-(1), (D)-(IV)
(A)-(1), (B)-(IV), (©)-(ln), (D)-(1)
(A)-(1), (B)-(1V), (©)-(1), (D)-(I)
(A)-(1), (B)-(11), (C)-(1V), (D)-(li1)

Options :

92090653581. 1
92090653582. 2
92090653583. 3
92090653584. 4

Question Number : 97 Question Id : 92090613565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 ;

(A)
(B)
(©)
(D)

List I List I1

Meizsner effect (I) Broadening of spectral lines
Twin paradox (IT) Perfect dimagnetism
Wave-particle duality (III) Theory of relativity

Heisenberg's uncertainity (IV) De Broglie Hypothesis
principle

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(I1I), (B)-(II), (C)-(IV), (D)-(I)
(A)-(ID), (B)-(II). (C)-(AV), (D)-(I)
(A)-(I), (B)-(1L), (C)-(11L), (D)-(IV)
(A)-(ID), (B)-(IV), (C)-(11T), (D)-(T)

Options :
92090653585. 1



92090653586. 2
92090653587. 3
92090653588. 4

Question Number : 97 Question Id : 92090613565 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | & Ty gt 1 71 fHeE sifon

gdl-| Tt i
(A) HRR UHE () auf s Y@l &1 hag
B) cfad ARy ay gof ufcgasig
(€) I-H gd (1) e & Rigid
(D) eTgoH & &1 sffAfdaar (v) St sielt Rigia
fagid

2 fau v fasedi # | 91 IR $1 99 DI

(1) (A=), (B)-(), (Q)-(V), (D)-(I)
(2)  (A)-(), (B)-(), (C)-(1V), (D)-(1)
(3)  (A)-(), (B)-(IN), (C)-(1), (D)-(IV)
(4)  (A)-(), (B)-(1V), (C)-(11), (D)-(1)

Options :

92090653585. 1
92090653586. 2
92090653587. 3
92090653588. 4

Question Number : 98 Question Id : 92090613566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I wath List IT :

List I List IT
(A) Mosley's Law (I) A=2d sing,
Where A-wavelength,
d-interplanar spacing,
8-angle
(B) Bragg's Law In A4,T=b

Where An. wavelength,
T-Temperature, b-constant

(C) Curie's Law (IIT) y=CIT,
Where ¥ -susceptability,
C-constant, T-temperature
(D) Wien'’s Displacement Law (1V) /v =a(Z -b)
Where v -frequency,

Z-atomic number, a and b
are constants.

Choose the correct answer from the options given below:

(1) (A)-(AV), (B)-(1), (C)-(I1I), (D)-(11)
(2)  (A)-(IV), (B)-(I), (C)-(ID), (D)-(II)
(3 (A)-), (B)-(IT), (C)-(I1I), (D)-(IV)
(4) (M-I, (B)-(1I), (C)-(I), (D)-(IV)

Options :

92090653589. 1
92090653590. 2
92090653591. 3
92090653592. 4

Question Number : 98 Question Id : 92090613566 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) HEd &I fAgH () A=2dsing
gl 4= au ey
d = 3R @R WRAT; 9= H0
(B) S I TH () AnT=b
el v &g ; 7= dHH ; b =RRI®
() gt o fan M y=c/a

Wl = IR ; ¢ = RRi®; 7=ddH
(D) FHIfRTEARTA (v) v =a(z-b)

Wel v = 31gfd ; Z= URHT] B ;
a 3R b = RS

1 feu U faeedi # 9 9el I &1 944 DIl

(1) (A=), (B)-(1), (C)-(ll1), (D)-(l1)
(2)  (A)-(V). (B)-(1). (O)-(I1), (D)-(IID)
(3)  (A)-(), (B)-(IN, (©)-(1), (D)-(IV)
(4) (A0, (B)-(l1), (©)-(1). (D)-(IV)

Options :

92090653589. 1
92090653590. 2
92090653591. 3
92090653592. 4

Question Number : 99 Question Id : 92090613567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 ;

Last I List IT
(A) Perfect diamagnetism (I} Hard superconductors
(B) Type-1I superconductors (I) E=0& B=0
(C) Perfect conductors (ITI) Soft superconductors
(D) Type-11 superconductors (IV) p(resistivity) =0

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(III), (C)-(IV), (D)-(1I)
(2)  (A)-AD), (B)-(ID), (C)-(IV), (D)-()
(3)  (A)-AV), (B)-(ID), (C)-(D), (D)-(1II)
(4)  (A)-IID), (B)-(D), (C)-(D), (D)-(IV)

Options :

92090653593. 1
92090653594. 2
92090653595. 3
92090653596. 4

Question Number : 99 Question Id : 92090613567 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) ol ufdd e () B Sffaes (@R Heae)
(B) TTFU-I i AAH W (1) £-0 & B=0

HSFR)

(C) YUl ded (Hedey) () Hg Sffcare® (IR dede)

(D) TIRYU-Il e (@R (V) p @adgddn) =0
HEFR)

1= feu U fawedi § | 9el I &1 994 Dol

(1) (A=), B)-(I), (C)-(IV), (D)-(l)
(2) (A=, (B)-(l), (C)-(IV), (D)-(I)
(3)  (A)-(V), (B)-(11), (C)-(1), (D)-(I1D)
@)  (A)-(1m), (B)-(1n, (C)-(1), (D)-(IV)



Options :

92090653593. 1
92090653594. 2
92090653595. 3
92090653596. 4

Question Number : 100 Question Id : 92090613568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 ;

Last 1 List 11
(A) Trichinic D a=ax#az; a=F=y=90°
(B) Tetragonel (II) ay=az#az; a=H8=90°, y=120°
(C) Cubic (II) ay2az#ag: a2 f#y+90°
(D) Hexagonal (IV) ey=as=as; a=F=y=90°

Choose the correct answer from the options given below:

(1) (A)-(D), (B)-(II), (C)-(I1I), (D)-(IV)
(2)  (A)-II), (B)-(IV), (C)-(110), (D)-(T)
(3)  (A)-(III), (B)-(1), (C)-(IV), (D)-(1II)
(4)  (A)-(IID), (B)-(II), (C)-(D), (D)-(IV)

Options :

92090653597. 1
92090653598. 2
92090653599. 3
92090653600. 4

Question Number : 100 Question Id : 92090613568 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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] =g # a5,
ap =ds #dg,
a; #as # ay,

@ =0z =03,

2 fau e fasedi § | 9l IR &1 98 DI

(1) (A)-0), B)-(1), (©-(m), (D)-(IV)

(2) (A1), (B)-(IV), (O)-(ll1), (D)-()

(3) (A, B)-(1), (O)-(IV), (D)-(I)

(4)  (A)-(), (B)-(1), (CQ)-(), (D)-(IV)
Options :

92090653597 1
92090653598. 2
92090653599. 3
92090653600. 4

a=F=y=00°
a=gF=90°, y=120°
azfizy=90°
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